F40 % £ 19 AR Kk & Vol. 40, No. 19
2009 £ 10 A Yangtze River Oct., 2009

NEHS 1001 —4179(2009) 19 - 0070 - 02

1=t

Matlab 7E£i & Z K B R P BY

(LA A AR RE M B sk F LA R & 224200)

BE. S TAERHEST 2 T2 EEBRILAETRX R HEIE  Matlab 2R 2 8 T ARG R 2, T A5 1298
A, Bt KB K FEZRBEF—NERAEFLEZT ELRREAZTAX, LW T Malab 24
Isqcurvefit \nlinfit B AR TR ER PO B A, I H AR BERXERE, 2F 3 REAGHKALLE R, LR LE
B RE . ST T BHAX IS, TR Matlab 324569 cftool sk, RAFF R R FE M X RH,
R4 R AF Matlab 44+, 7T A K K483 R F FAH 4% T AT

X $# H:Matlab; A S AEAK; AT TH

hE S ES: P337 X EFERIRAD: A

F=a(l) =data(:,1) *exp( —a(2) *data(:,2));

1 w’% ﬁ s myfun PR773) Matlab 2475 TA/E H 3% T, 4 Matlab T/E%H
T OB G i S B HE AT K L B O R E LR, RIAR i S H b AL U RE , 98 Isqeurvefit #4725l 4k -

i PORMRE i S R R BV K CERZ B KR, SEFR a = xlsread (* G: p2009 \ 3¢ 3C\ % £ ufi i 5 (Isqeurvefit ).

TAE 5 iz ] Excel g RUH AT hBE AT ARG o HXT xls*) ;% BUREAE

TR 2R 278 i AR LA KA B 6 R R L&, Excel xdata=a(:,1) %5 1 5 hKAL2E

TR R A AR T 8 ydata =a(:,2) % 45 2 5 Y%
Matlab T FRERAFHAT 58 K B ETH I RE 0 B wr d Ak 2h zdata = a( :,3) % 55 3 5 Ry i

AE , X A BT A AR N G L R A 5 1Y AR, AT LR Ak T A data = [ xdata ydata ]

i e 44 b 4 19 0] B3, Matlab 4531 T H 4% ( Statistics Toolbox ) option = optimset ( MaxFunEvals’, 10000) ; % i% & 5115 &

X T2 e A Rl Ry T A R YRR, 7T LA R . As SCRA a0 = [.001, -2]% ZHWIH{E

A R A, |9 25 H8 B0 T vl S St vl 300t Jt 2 e 2 o 141 AR IEAT R AT AT A

6] Matlab $24EAY Isqeurvefit  nlinfit %% A FH 712 . xdata = ydata = zdata = data = 1.0e + 003 =

1.5200 1140 30. 1000 0.0015 1. 1400

2 *ﬁg{ﬁfﬁ?ﬁmmiﬁzﬁé%ﬁﬁ 1.5200 1140 30. 7000 0.0015 1. 1400

Matlab pR%5 Isqeurvefit ,nlinfit 2% T /)N — 3 [n] 9 B9, HAL 1.4500 1090 31. 1000 0.0014 1.0900

PR (1) B -

in L 2 1.1900 1000 32. 4000 0.0012 1.0000
min = || F(x,xdata) - ydata || * =

a0 = 0.0010 - 2. 0000

1 1E Matlab TAE% 1 hig A

fZ[F(x,xdatai) - ydata,]’ (1)
2 4 [a, resnorm | = lsqcurvefit( @ anfengfun, a0 , data, zdata)
K xdata Jy A8 R 5 ydata PR R m WFEARRKEE; v AZ e
. a =0.09390.8506
R AR K ol i 2 50 - B

Q = ”f]kNB_Eh (2) Q = 0.093 Q [ ~0- 8506 (3)
Sof Q ks N TFOLIA A I 1 K m, A BLAACUR R | A
IKELRE R T & A/ RE Rl R 3 I 1 1 09 R E o m, e e 525 b
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function F = myfun(a, data) ; AT R AR TE RN
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function y = hanshu(b,A) ; 1.52 1140 30. 1 29.4 2.4
W0 =b(1); 1.52 1140 30.7 29.4 4.4
1.45 1090 31.1 29.8 4.4
al =h(2);
1.52 1260 29.1 32.5 -10.5
a2=b(3); 1.59 1360 30.1 33.0 -8.8
a3 =b(4); 1.41 1190 33.0 33.7 “2.1
kl =A(:,1) —al; 1.32 958 31.4 29.3 7.2
kK2=A(:,2); 1.36 1140 30.2 33.7 -10.4
Kl =kl "a2; 1.18 963 33.4 33.1 0.9
K2 = K2, a3 1.21 892 30.2 29.9 1.0
vkl k2; 1.33 972 30.7 29.4 4.4
1.24 905 33.0 29.6 11.5
y=20*y; 1.31 939 33.7 28.9 16.6
¥4 hanshu. m {377 %] Matlab 2457 T/EH % F, 7 Matlab T. 1.10 1060 37.3 39.0 4.4
PES O P ALY TR, 78 olinfit 472800010 : 1.07 935 31.9 35.3 -9.6
a = xlsread (* G ;: p2009 \is ST\ IR BH 5 Vi & xIs) 5 0.96 807 33.5 33.5 0.0
A=a(:.[23]); 0.99 768 33.2 31.1 6.8
z=a(:,1)b0=[1 =51 .1];%SEWIGEH 1.10 920 32.9 33.9 -2.9
option = statset (' MaxFunEvals' ,100) ; 1.10 914 32.2 33.7 -4.5
[b,r,j] =nlinfit(A, z, hanshu’ ,b0) b2 900 325 292 .3
1.29 1190 39.7 37.3 6.4
y =hanshu(b,A) 0.92 463 18.8 19.9 -5.5
Ed 1.19 1000 3.4 34.1 -5.0
Q =5213.1937(Z - 8.307 8)"7%> A Z"%?° (5)
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mf function F = myfun(a, data) ;
=
g 5 F=data(:,1).%a(2);
—— S
--0O-- “'TH/)T“:{I F1 =data( H ,2) . ”a(3) H
20 ¢ F2 =data(:,3)."a(4);
F=a(l) #F. #Fl. % F2
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